oM
]
o |
aoam
KO
A N

504 + 84 = 6(Y)

84




2.

Azt e Fed & 14mm 7t BT T 133m 2 ARE
it @ol F3le W 2 m7t =4 oA L
> Ct

in

13.3+1.47=9---0.07 0|22

97 & 4 U1, 0.07m 7} E5Uth

==




-0.006

[ ]+372=1545--

57.48

ul
RO

.I

Sfo] ogt.

3.72 x 15.45 + 0.006 = 57.48

25

AL o]

[




4. 1m?9] 9< At g 0.42L 9] HIEF asicky Pt HE
1.05L 2= @ 2 0] e Ast &~ QAL U7

> E: m?

> HE: 25m?

1.05+0.42 = 2.5(m?)




5.

seme g

o] 20]9] f&o] 90 /LS ©]-&5te] FA o7t 713 &9
Mg FolEH o2t 7"“4E‘r

(el 2ole] &)= 90(7h)

(40l #&)= 90+ 1.5 = 60(7H)

ZTAol9 F&0] 607U o]-83t ARlo]7t 717 F&9
H#i T EH o3 Z5y

(FAol9] &)= 60(7H)

(*d‘?JOI?J &)= 60+ 2.4 = 25(71))

ot A A Abo] 7txl t&C] MFE BF HoEH
90 + 60 + 25 = 175(71) Yy th.




6. Thxt=(h+ s (U= 7h D o, B At

0.4 % 0.08

=
| — Y

>
> =t 25

‘ 0.4%0.08 = (0.4 +0.08) = (0.08 + 0.4) =5+ 0.2 =25




25 71

ul
P

.l

>




[ 1 =084 =1, [10.6] = 11 ¥} o] 2H5to] A= Lehfia,
< >E<499>=4, <248 >= 24 9} o] HHS}o] AASL=E
R o, oh&-2 AlLlekA 2.

< [4.9+0.75]+ < 6.48 x 0.9 >>

\VARR 4
0
L
_

< [4.9+0.75]+ < 6.48 X 0.9 >>
=<[6.53---]+ <5832>>=<T7+5>=<14>=1




Fol 25.2 o], 271596 ¢ F 57t AFYTh
22 1} 52 el 4% =4 A7

Ch "
| —

| 2
> ®=e: 162

i

ol ofj, & %
o]-/\]j)_‘

rlo

4)=(25.2 + 5.96) + 2 = 15.58
2 4)=(25.2 - 596)'2:9.62
62 =1.619--- o]|B=2

—
S
ot
oo

9.
2o ureesto] & %ﬂﬂ A=) 7HA] ot 1.62 7F Huy o




10 of® 48 252 tHrlE U Fo 471013 L7k 0.015 B}
252 LHro] B8 &5 2 A7 TR 1), oA

ofH 45

dopelA] F5FA L,

»
> =g 0.04

ofd [ [t g,
[ ]+25=471---0015

[ ]=25%4.7140.015=11.79
11.79 + 2.5 = 4.7---0.04
kA Y2 0.04 JUth




11. 247262 oW £2 WPAEY 5ol 2.310]2 4271 0.009 A5
o ofd 5 231 2 UhE 52 A9S T2/ 78 wo] 4R E
TS L.

> E:

> = 146

24.726 = (o]H 4)x2.31 + 0.009 | B2
(o1® =)= (24.726 — 0.009) + 2.31 = 10.7
10.7+231 =4---1.46 °| 22 Y2 1.46 YUt




12.

[\
Fl
v
Hr
s
flo
o
3
o,
=
v
i)
RS
rr
o
154
[\
rl
i
£
2,
&

[ ]+7.2=267---0.032

[ ]=7.2x267+0.032 = 19.256
19.256 + 1.6 = 12.035




13. o5 =39 Hol= 40.8cm?
TS 2.

>
[> HE 6.2cm

8.5 3.4 +2 = 14.45(cm?)
40.8 — 14.45 = 26.35(cm?)
26.35 X 2 + 8.5 = 6.2(cm)




14. oL AE5A7F IEE 204 3 A7F 15 B 59t 333.98kmE E
ytt, o] ZHF 2= g AI7F ot oF 2 km & E =] ¥R S
24 A A 7HA] oA

» & km

[> ®gh: °F102.76 km

3 A% 15 8 =30 A7 =3 AIZE =395 A1
3.25 A|7t 591 333.98km E B O R 2
(1AIZF &<t &= A7) = 333.98 + 3.25 = 102.763 - -

vre sto] A% S 24742 Lo o 102. 76km‘?ME}




= km

[ 2
[> ®e: 67.8km

~&B

1 AZF15 B = 1.25 A7 30 & = 0.5 A7
169.5 + 1.25 = 16950 = 125 = 135.6 (km)
wakA 30 2 52l 135.6 x 0.5 = 67.8 (km) =
ct.




1 A1t 30 2 Fotol 120.6kmE €2 5= Q)
o] AAZ A= e W22 45 B Foto] &
TSI L

= km

>
> H2: 60.3 km

B

1 AIZF 30 &= 1.5 A%, 45 &= 0.75 AF
(1A BA EE 5 e A)

= 120.6+1.5 = 120615 = 80.4(km)

(45 2 S 2 5 JE AR)

= 80.4 % 0.75 = 60.3(km)




17.

Sgol= AAAE Bl AT w272 3.2 A|7F 59F 8.96km S
Ayt —S—°é°l7} 8kmE A E e Z uff oF & A|7to] AE=2]
Hre3sto] 44 B4 A 7hA] FL5HA 2

(1 AZF &<t 2 5 Sl A9) =8.96+3.2
=2.8(km)
(8km & 7}= d A& AlZH) =8+ 28

=2.8571---
— 9F 2.86 A7t




< [24.8 + 4.75]+ < 9.42 x 0.65 >>

\VARR 4
0
it
_

< [24.8 + 4.75]+ < 9.42x0.65 >>
<[522--:]+ <6.123>>=<6+6>=<1>=1




19. oJH 5 1.8 2 Uro] & A4 A A2|7kA] F6hH 6.70] 11, 5
24 A A 7bA] e 6.75 YUt g AL AR =7k 5
A= 5 0 0] obd 7h 2h2 5 A L.,

o, v} 2 4 )

» =
> =D 0.09

AL (RO A& F)= (Wre )% (F)+ (HHA) o2 2
U 2|7t 74 &S o Yoz = 71 7P Zokd Yt
ol 4= Fof| A 7P e £ 18%6.75 = 12.15 0| B R S

A4 AR A2 742 £ o, Y 2] 7}
12.15-1.8x 6.7 = 12.15—12.06 = 0.09 YUt}

2 e #F 00] otd

Vg A S




20.

oW 42 1242 Wralgy Fol 21011 trix|7} 0,045 A
U @ 45 212 el o, $2 AA57] Fat, ol
wo] Uej A% Fate] el 24 Q.

> E

iy

12

vV V V¥
0x
i

0x
n

o . 8.445

oAl £2 [ Jzt st
[ ]+124=21---0.045

[ ]=12.4%21+0.045 = 260.4 + 0.045 = 260.445
260.445 ~ 21 = 12---8.445 0|2
52 12 0|2, YR & 8.445 YUYt}




